Contract 24-11 - Sanitary M	anhole Rehabilit	ation / Inflow/Infiltration R	eduction Program	(#9184991)				
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
, , , , , ,	-							
Bid Opening: 07/15/2024 11	:00 AM CDT							
					Vinton Construction	on Company	Carl Bowers & Sons	Const. Co., Inc.
					1322 33rd S			consu con ma
					Two Rivers, W			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1	item coue	Item Description	COIN	Quantity	Chitritee	\$950,664.00	Ontrice	\$1,078,015.00
Section 1		Mobilization; complete as				\$950,004.00		\$1,078,015.00
	1050	-	Luman Cum	1.00	00 000 000	\$20,000,00	¢140.000.00	¢140.000.00
	1050	specified Removing concrete and	Lump Sum	1.00	\$99,000.00	\$99,000.00	\$140,000.00	\$140,000.00
		asphalt sidewalk and						
		•						
	1100	driveway; complete as		2=0.00	4- 00	*1 25 0 00	#10.00	** = 00.00
	1120	specified 7" concrete pavement	Square Feet	250.00	\$5.00	\$1,250.00	\$10.00	\$2,500.00
		removal and replacement;						
		including sawing;						
		0 0						
		pavement ties; dowel						
		bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1308	complete as specified	Square Yards	550.00	\$171.78	\$94,479.00	\$160.00	\$88,000.00
		7" concrete pavement						
		HES removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1309	complete as specified	Square Yards	50.00	\$174.78	\$8,739.00	\$165.00	\$8,250.00
		8" concrete pavement						
	1	removal and replacement;						
		including sawing;						
		pavement ties; dowel						
		bars; bond breaker;						
	1	integral curb and fine						
	1	grading; turf restoration;						
		and traffic control;						
	1318	complete as specified	Square Yards	50.00	\$174.41	\$8,720.50	\$170.00	\$8,500.00

Contract 24-11 - Sanitary M	anhole Rehabilit	ation / Inflow/Infiltration R	eduction Program	(#9184991)				
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
,,								
Bid Opening: 07/15/2024 11	1:00 AM CDT							
514 opening, 01/10/2021 11								
					Vinton Constru	ction Company	Carl Bowers & So	ns Const Co. Inc
					1322 33rd		Carl bowers & 50	no const. co., me.
					Two Rivers			
Continue Title	It and Carls	It is Description	11- () (Quantita			II't D'	Teters'en
Section Title	Item Code	Item Description 8" concrete pavement	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		HES removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1319	complete as specified	Square Yards	800.00	\$177.41	\$141,928.00	\$175.00	\$140,000.00
		Turf restoration;						
	1370	complete as specified	Square Yards	70.00	\$35.00	\$2,450.00	\$15.00	\$1,050.00
		Replace and set CITY-						
		supplied manhole						
		castings and frames;						
	1373	complete as specified	Each	105.00	\$175.00	\$18,375.00	\$750.00	\$78,750.00
		Furnish and install				. ,		. ,
		concrete adjustment						
		rings; complete as						
	1374	specified	Vertical Feet	50.00	\$550.00	\$27,500.00	\$750.00	\$37,500.00
	10, 1	Furnish and install rubber	Verticul i cet	00.00	4000.00	φ27,000.00	φ/ 50.00	407,000.00
		adjustment rings;						
	1375	complete as specified	Vertical Feet	6.00	\$1,400.00	\$8,400.00	\$1,000.00	\$6,000.00
	1575	Tuck point manholes;	Vertical Feet	0.00	\$1,400.00	\$0,±00.00	\$1,000.00	\$0,000.00
	1376	complete as specified	Each	10.00	\$300.00	\$3,000.00	\$500.00	\$5,000.00
	1570	Cold weather covering	Lach	10.00	\$500.00	\$3,000.00	\$500.00	\$5,000.00
		(concrete pavement) -						
		single visquine; complete						
	1290	as specified	Causana Vanda	700.00	¢0.01	¢7.00	¢1.00	¢700.00
	1380	Cold weather covering	Square Yards	700.00	\$0.01	\$7.00	\$1.00	\$700.00
		(concrete pavement) -						
		double visquine;						
	1000	-	Canone Vanda	E0.00	¢0.01	#0 F0	¢1.00	\$50.00
	1382	complete as specified Up-charge for late season	Square Yards	50.00	\$0.01	\$0.50	\$1.00	\$50.00
		1 0						
		cold weather concrete						
	1000	pavement; complete as			+			
	1390	specified	Cubic Yards	250.00	\$0.01	\$2.50	\$20.00	\$5,000.00
		4" concrete sidewalk with						
		3" CABC and grading;	_					
	1500	complete as specified	Square Feet	150.00	\$15.00	\$2,250.00	\$14.00	\$2,100.00

Contract 24-11 - Sanitary M	anhole Rehabilit	ation / Inflow/Infiltration R	eduction Program	(#9184991)				
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City				1				
,,				1				
Bid Opening: 07/15/2024 11	00 AM CDT							
bia opening, en lo ser i								
					Vinton Constru	ction Company	Carl Bowers & So	ns Const Co. Inc
					1322 33r	1,1	Carl Dowers & So.	
				+ +	Two Rivers			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	nem coue	6" concrete sidewalk/	Conn	Quantity	Chief Fride	Extension	Child Fride	Esterioron
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	100.00	\$20.00	\$2,000.00	\$15.00	\$1,500.00
	1010	Drilled No. 4 sidewalk tie	Square reet	100.00	φ20.00	φ2,000.00	\$15.00	\$1,500.00
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	4.00	\$8.00	\$32.00	\$15.00	\$60.00
	1500	Remove and replace	Lacit	4.00	\$0.00	\$32.00	\$15.00	\$00.00
		HMA pavement;						
		including sawing; fine						
		grading; turf restoration;						
		and traffic control;						
	1904	complete as specified	Square Yards	400.00	\$145.00	\$58,000.00	\$190.00	\$76,000.00
	1904	Asphaltic cold weather	Square rarus	400.00	\$145.00	\$36,000.00	\$190.00	\$70,000.00
		paving up-charge;						
	1918	complete as specified	Square Yards	150.00	\$0.01	\$1.50	\$45.00	\$6,750.00
	1910	Temporary cold mix	Square rarus	150.00	\$0.01	\$1.50	\$ 4 5.00	\$0,730.00
		asphaltic patch; complete						
	1930	as specified	Square Yards	500.00	\$0.01	\$5.00	\$0.01	\$5.00
	1930	Furnish and install 8"	Square Tatus	500.00	\$0.01	\$5.00	\$0.01	\$ 5 .00
		storm sewer; complete as						
	2001	specified	Linear Feet	10.00	\$122.00	\$1,220.00	\$140.00	\$1,400.00
	2001	Furnish and install 10"	Linear reet	10.00	\$122.00	\$1,220.00	\$140.00	\$1,400.00
		storm sewer; complete as						
	2002	specified	Linear Feet	5.00	\$129.00	\$645.00	\$150.00	\$750.00
	2002	Furnish and install 12"	Linear reet	5.00	\$129.00	\$045.00	\$150.00	\$750.00
		storm sewer; complete as						
	2003	specified	Linear Feet	15.00	\$139.00	\$2,085.00	\$165.00	\$2,475.00
	2005	Furnish and install 15"	Lineal reet	15.00	φ139.00	φ2,063.00	\$103.00	φ2,475.00
		storm sewer; complete as						
	2006	specified	Linear Feet	5.00	\$154.00	\$770.00	\$180.00	\$900.00
	2000	Furnish and install	Enicarrect	5.00	φ134.00	φ770.00	φ100.00	\$900.00
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2213	specified	Vertical Feet	4.00	\$1,480.00	\$5,920.00	\$1,800.00	\$7,200.00
<u> </u>	2213	Furnish and install Type 1	verueal Feet	4.00	φ1/±00.00	<i>\$3,7</i> 20.00	\$1,000.00	φ1,200.00
		inlet; complete as						
	2236	specified	Fach	2.00	\$4,087.00	\$8,174.00	\$4,000,00	\$8,000.00
L	2236	specified	Each	2.00	\$4,087.00	\$8,174.00	\$4,000.00	\$8,000.

Contract 24-11 - Sanitary Ma	anhole Rehabilita	ation / Inflow/Infiltration R	eduction Program	(#9184991)				
Owner: Oshkosh WI, City o	-							
Solicitor: Oshkosh WI, City								
contention connectin (11) eng								
Bid Opening: 07/15/2024 11:	00 AM CDT							
bia opening. 07/10/2021 11								
	-			ł – ł	Vinton Construct	ion Company	Carl Bowers & Sons	Const Co. Inc
					1322 33rd		Call bowers & Solis	Colist. Co., Inc.
				0	Two Rivers, V			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6"						
		storm sewer lateral;						
	2400	complete as specified	Linear Feet	5.00	\$95.00	\$475.00	\$130.00	\$650.00
		Connect to existing storm						
		sewer main; complete as						
	2850	specified	Each	7.00	\$680.00	\$4,760.00	\$2,000.00	\$14,000.00
		Connect to existing storm						
		sewer lateral; complete as						
	2852	specified	Each	1.00	\$245.00	\$245.00	\$1,500.00	\$1,500.00
		Furnish and install 8"						
		sanitary sewer (relay);						
	3000	complete as specified	Linear Feet	5.00	\$270.00	\$1,350.00	\$150.00	\$750.00
		Furnish and install 10"						
		sanitary sewer (relay);						
	3002	complete as specified	Linear Feet	35.00	\$277.00	\$9,695.00	\$160.00	\$5,600.00
		Furnish and install 12"						
		sanitary sewer (relay);						
	3004	complete as specified	Linear Feet	15.00	\$310.00	\$4,650.00	\$175.00	\$2,625.00
		Furnish and install 15"						
		sanitary sewer (relay);						
	3006	complete as specified	Linear Feet	25.00	\$353.00	\$8,825.00	\$190.00	\$4,750.00
		Furnish and install						
		standard sanitary sewer						
		manhole (4' diameter)						
		with slurry backfill;						
	3101	complete as specified	Vertical Feet	68.00	\$1,650.00	\$112,200.00	\$1,250.00	\$85,000.00
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	92.00	\$700.00	\$64,400.00	\$750.00	\$69,000.00
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal						
		extension; complete as						
	3116	specified	Each	25.00	\$385.00	\$9,625.00	\$650.00	\$16,250.00
		Furnish and install						
		sanitary sewer internal						
		manhole chimney seal;						
	3118	complete as specified	Each	12.00	\$527.00	\$6,324.00	\$800.00	\$9,600.00

Contract 24-11 - Sanitary Ma	nhole Rehabilita	ation / Inflow/Infiltration R	eduction Program	(#9184991)				
Owner: Oshkosh WI, City of	-			(,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				
Solicitor: Oshkosh WI, City								
, , , , , , , , , , , , , , , , , , , .	-							
Bid Opening: 07/15/2024 11:	00 AM CDT							
0								
					Vinton Construc	tion Company	Carl Bowers & Son	s Const. Co., Inc.
					1322 33rd			· · · · · · · · · · · · · · · · · · ·
					Two Rivers,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Reconstruct sanitary		~ ,				
		sewer manhole (4'						
		diameter) with slurry						
		backfill; complete as						
	3123	specified	Vertical Feet	83.00	\$1,700.00	\$141,100.00	\$1,500.00	\$124,500.00
		Pour and reshape						
		manhole bench; complete						
	3160	as specified	Each	6.00	\$550.00	\$3,300.00	\$2,000.00	\$12,000.00
		Furnish and install 10" x						
		6" sanitary sewer factory						
		wyes or tees; complete as						
	3212	specified	Each	3.00	\$1,167.00	\$3,501.00	\$750.00	\$2,250.00
		Furnish and install 15" x						
		6" sanitary sewer factory						
		wyes or tees; complete as						
	3216	specified	Each	1.00	\$1,859.00	\$1,859.00	\$1,500.00	\$1,500.00
		Furnish and install 4"/6"						
		sanitary sewer lateral						
		(relay); complete as						
	3234	specified	Linear Feet	25.00	\$205.00	\$5,125.00	\$130.00	\$3,250.00
		Furnish and install 4"/6"						
		sanitary sewer riser						
		(relay); complete as						
	3235	specified	Linear Feet	5.00	\$100.00	\$500.00	\$140.00	\$700.00
		Furnish and install						
		sanitary sewer lateral						
	2224	marker balls; complete as	F 1	2.00	#c0.00	#100.00	# = 0.00	¢150.00
	3236	specified Furnish and install	Each	3.00	\$60.00	\$180.00	\$50.00	\$150.00
		connection to existing 8"						
		0						
	3300	sanitary sewer mains;	Eash	1.00	\$1,146.00	\$1,146.00	\$1,800.00	\$1,800.00
	3300	complete as specified Furnish and install	Each	1.00	\$1,140.00	\$1,140.00	\$1,000.00	\$1,000.00
		connection to existing 10"						
		sanitary sewer mains;						
	3302	complete as specified	Each	7.00	\$1,300.00	\$9,100.00	\$2,000.00	\$14,000.00
	5502	Furnish and install	Lacii	7.00	φ1,500.00	ψ2,100.00	φ2,000.00	φ14,000.00
		connection to existing 12"						
		sanitary sewer mains;						
	3304	complete as specified	Each	3.00	\$1,330.00	\$3,990.00	\$2,200.00	\$6,600.00

Contract 24-11 - Sanitary Ma	nhole Rehabilita	ation / Inflow/Infiltration R	eduction Program ((#9184991)				
Owner: Oshkosh WI, City of	f							
Solicitor: Oshkosh WI, City	of							
·								
Bid Opening: 07/15/2024 11:	00 AM CDT							
					Vinton Construc	ction Company	Carl Bowers & So	ns Const. Co., Inc.
					1322 33rd	d Street		
					Two Rivers	, WI 54241		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install						
		connection to existing 15"						
		sanitary sewer mains;						
	3306	complete as specified	Each	5.00	\$1,434.00	\$7,170.00	\$2,400.00	\$12,000.00
		Closed circuit televising -						
		using push camera;						
	3710	complete as specified	Each	2.00	\$250.00	\$500.00	\$250.00	\$500.00
		Abandon sanitary sewer						
		manholes; complete as						
	3800	specified	Each	3.00	\$1,850.00	\$5,550.00	\$1,000.00	\$3,000.00
		Excavation special						
		(sanitary); complete as						
	3892	specified	Tons	50.00	\$30.00	\$1,500.00	\$50.00	\$2,500.00
		Furnish sanitary sewer						
		manhole grouting setup;						
	3974	complete as specified	Each	16.00	\$1,550.00	\$24,800.00	\$1,750.00	\$28,000.00
		Furnish and install						
		sanitary sewer manhole						
		grouting; complete as						
	3975	specified	Gallons	80.00	\$10.50	\$840.00	\$15.00	\$1,200.00
		Furnish sanitary sewer						
		manhole cementitious					_ · · · · · ·	
	3976	liner setup Furnish and install	Each	14.00	\$500.00	\$7,000.00	\$600.00	\$8,400.00
		sanitary sewer structural						
		cementitious liner-						
		PERMACAST by AP/M PERMAFORM; complete						
	2077		Vanti and East	100.00	¢1(0.00	¢16,000,00	¢175.00	¢17 500 00
Bid Total:	3977	as specified	Vertical Feet	100.00	\$160.00	\$16,000.00	\$175.00	\$17,500.00
Dia Total:						\$950,664.00		\$1,078,015.00

Contract 24-11 - Sanitary M	Ianhole Rehabilita	ation / Inflow/Infiltration R	eduction Program	(#9184991)		
Owner: Oshkosh WI, City						
Solicitor: Oshkosh WI, Cit						
,	,					
Bid Opening: 07/15/2024 1	1:00 AM CDT					
					DE GROOT	INC
					DEGROOT	, iite.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section 1	item coue	item 2 comption	Conn	Quantity	Chief Fride	\$1,251,533.08
Section 1		Mobilization; complete as				φ1,251,555.00
	1050	specified	Lump Sum	1.00	\$75,530.33	\$75,530.33
	1050	Removing concrete and	Lunp Jun	1.00	\$75,550.55	\$75,550.55
		asphalt sidewalk and				
		driveway; complete as				
	1120	specified	Square Feet	250.00	\$15.15	\$3,787.50
	1120	7" concrete pavement	Square Peer	230.00	\$15.15	\$3,787.30
		removal and replacement;				
		including sawing;				
		pavement ties; dowel				
		bars; bond breaker;				
		integral curb and fine				
		-				
		grading; turf restoration;				
	1000	and traffic control;			#100.01	
	1308	complete as specified 7" concrete pavement	Square Yards	550.00	\$122.21	\$67,215.50
		HES removal and				
		replacement; including				
		sawing; pavement ties;				
		dowel bars; bond breaker;				
		integral curb and fine				
		grading; turf restoration;				
		and traffic control;				
	1309	complete as specified	Square Yards	50.00	\$127.77	\$6,388.50
		8" concrete pavement				
		removal and replacement;				
		including sawing;				
		pavement ties; dowel				
		bars; bond breaker;				
		integral curb and fine				
		grading; turf restoration;				
		and traffic control;				
	1318	complete as specified	Square Yards	50.00	\$133.32	\$6,666.00

Contract 24-11 - Sanitary Mar	nhole Rehabilit	ation / Inflow/Infiltration R	eduction Program	(#9184991)		
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City o						
, , ,						
Bid Opening: 07/15/2024 11:0	0 AM CDT					
					DE GRO	OT INC
					DEGRO	01,11(0.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		8" concrete pavement				
		HES removal and				
		replacement; including				
		sawing; pavement ties;				
		dowel bars; bond breaker;				
		integral curb and fine				
		grading; turf restoration;				
		and traffic control;				
	1319	complete as specified	Square Yards	800.00	\$137.76	\$110,208.00
		Turf restoration;	1			
	1370	complete as specified	Square Yards	70.00	\$25.25	\$1,767.50
		Replace and set CITY-				
		supplied manhole				
		castings and frames;				
	1373	complete as specified	Each	105.00	\$1,616.00	\$169,680.00
		Furnish and install				
		concrete adjustment				
		rings; complete as				
	1374	specified	Vertical Feet	50.00	\$1,060.50	\$53,025.00
		Furnish and install rubber			. ,	. ,
		adjustment rings;				
	1375	complete as specified	Vertical Feet	6.00	\$1,868.50	\$11,211.00
		Tuck point manholes;			. ,	· · ·
	1376	complete as specified	Each	10.00	\$757.50	\$7,575.00
		Cold weather covering				· ,
		(concrete pavement) -				
		single visquine; complete				
	1380	as specified	Square Yards	700.00	\$1.11	\$777.00
		Cold weather covering	1		-	
		(concrete pavement) -				
		double visquine;				
	1382	complete as specified	Square Yards	50.00	\$1.11	\$55.50
		Up-charge for late season	1			
		cold weather concrete				
		pavement; complete as				
	1390	specified	Cubic Yards	250.00	\$17.17	\$4,292.50
		4" concrete sidewalk with				+ -,=, =:00
		3" CABC and grading;				
	1500	complete as specified	Square Feet	150.00	\$17.27	\$2,590.50

Contract 24-11 - Sanitary M	fanhole Rehabilita	ation / Inflow/Infiltration R	eduction Program	(#9184991)		
Owner: Oshkosh WI, City						
Solicitor: Oshkosh WI, Cit	y of					
Bid Opening: 07/15/2024 1	1:00 AM CDT					
					DE GROO	DT, INC.
	K. C. I				II. 's D '	T ()
Section Title	Item Code	Item Description 6" concrete sidewalk/	UofM	Quantity	Unit Price	Extension
		driveway/ramp with 3"				
		CABC and grading;				
	1510	0 0		100.00	#10.20	#1 0 0 0 0
	1510	complete as specified Drilled No. 4 sidewalk tie	Square Feet	100.00	\$18.38	\$1,838.0
		bars - deformed; epoxy-				
	15(0	coated; complete as	E. J.	1.00	¢10.10	¢40.4
	1560	specified Remove and replace	Each	4.00	\$12.12	\$48.4
		HMA pavement;				
		including sawing; fine				
		grading; turf restoration;				
		and traffic control;				
	1004	,	Course Nonda	100.00	¢100.00	¢70.002.0
	1904	complete as specified	Square Yards	400.00	\$199.98	\$79,992.0
		Asphaltic cold weather				
	1010	paving up-charge;		150.00	¢ 47 20	# 7 .005.0
	1918	complete as specified Temporary cold mix	Square Yards	150.00	\$47.30	\$7,095.0
		1 ,				
	1020	asphaltic patch; complete		-00.00	#20.20	¢14,140,0
	1930	as specified Furnish and install 8"	Square Yards	500.00	\$28.28	\$14,140.0
	2001	storm sewer; complete as		10.00	¢100.07	¢1.000 F
	2001	specified Furnish and install 10"	Linear Feet	10.00	\$138.37	\$1,383.7
	2002	storm sewer; complete as	. .		1	*=00.0
	2002	specified Furnish and install 12"	Linear Feet	5.00	\$146.45	\$732.2
	2002	storm sewer; complete as		15.00		#0.0<0.4
	2003	specified	Linear Feet	15.00	\$157.56	\$2,363.4
		Furnish and install 15"				
	2007	storm sewer; complete as		- 00		#000 0
	2006	specified Furnish and install	Linear Feet	5.00	\$166.65	\$833.2
		standard storm sewer				
		inlet manhole (4'				
	2012	diameter); complete as	West's IT 1	1.00	#1 FOF (0	#E 100 E
	2213	specified Furnish and install Type 1	Vertical Feet	4.00	\$1,795.69	\$7,182.7
		,,				
	2224	inlet; complete as	F 1		#E 000.00	#44 APP 4
	2236	specified	Each	2.00	\$5,988.83	\$11,977.6

Contract 24-11 - Sanitary M	Ianhole Rehabilit	ation / Inflow/Infiltration R	eduction Program	(#9184991)		
Owner: Oshkosh WI, City						
Solicitor: Oshkosh WI, Cit						
,,						
Bid Opening: 07/15/2024 1	1:00 AM CDT					
					DE GROOT	T INC
					DEGROOM	, ive.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
	item coue	Furnish and install 6"	Conn	Quantity	Child Fille	Extension
		storm sewer lateral;				
	2400	complete as specified	Linear Feet	5.00	\$138.37	\$691.85
	2100	Connect to existing storm	Elilearieet	0.00	\$100.07	φ071.00
		sewer main; complete as				
	2850	specified	Each	7.00	\$2,272.50	\$15,907.50
	2030	Connect to existing storm	Lacii	7.00	φ2,272.30	\$15,507.50
		sewer lateral; complete as				
	2852	specified	Each	1.00	\$1,212.00	\$1,212.00
	2032	Furnish and install 8"	Lacii	1.00	\$1,212.00	\$1,212.00
		sanitary sewer (relay);				
	3000	complete as specified	Linear Feet	5.00	\$166.65	\$833.25
	3000	Furnish and install 10"	Linear reet	5.00	\$100.05	\$655.2C
		sanitary sewer (relay);				
	3002	, , ,	Lincon Foot	25.00	¢171.70	¢6,000 E0
	3002	complete as specified Furnish and install 12"	Linear Feet	35.00	\$171.70	\$6,009.50
		sanitary sewer (relay);				
	2004	complete as specified	Lincon Foot	15.00	¢101.00	¢2 727 00
	3004	Furnish and install 15"	Linear Feet	15.00	\$181.80	\$2,727.00
		sanitary sewer (relay);				
	2006	, , ,	Lincon Foot	25.00	¢196.95	¢4.671.0
	3006	complete as specified Furnish and install	Linear Feet	25.00	\$186.85	\$4,671.25
		standard sanitary sewer				
		manhole (4' diameter)				
	2101	with slurry backfill;		(0.00	#1 000 00	#100 500 0
	3101	complete as specified Furnish and install	Vertical Feet	68.00	\$1,890.00	\$128,520.00
		sanitary sewer external				
	2111	manhole chimney seal;		00.00	A=(1.00	A=0.000.00
	3114	complete as specified Furnish and install	Each	92.00	\$761.89	\$70,093.88
		sanitary sewer external				
		manhole chimney seal				
		extension; complete as	F 1			*** ***
	3116	specified	Each	25.00	\$414.10	\$10,352.50
		Furnish and install				
		sanitary sewer internal				
	2110	manhole chimney seal;		10.00		40 - · · · ·
	3118	complete as specified	Each	12.00	\$709.10	\$8,509.20

Contract 24-11 - Sanitary M	anhole Rehabilit	ation / Inflow/Infiltration R	eduction Program	(#9184991)		
Owner: Oshkosh WI, City o			0	1		
Solicitor: Oshkosh WI, City						
somenon osimesii iii, eny	01					
Bid Opening: 07/15/2024 11	-00 AM CDT					
bid Opening. 07/15/2024 11	.00 AM CD1					
					DE CROO	T 1010
					DE GROO	I, INC.
0 1 711	the col				IL SOL	F ()
Section Title	Item Code	Item Description Reconstruct sanitary	UofM	Quantity	Unit Price	Extension
		sewer manhole (4'				
		diameter) with slurry				
		backfill; complete as				
	3123	specified	Vertical Feet	83.00	\$2,772.96	\$230,155.68
		Pour and reshape				
		manhole bench; complete				
	3160	as specified	Each	6.00	\$959.50	\$5,757.00
		Furnish and install 10" x				
		6" sanitary sewer factory				
		wyes or tees; complete as				
	3212	specified	Each	3.00	\$1,134.56	\$3,403.68
		Furnish and install 15" x				
		6" sanitary sewer factory				
		wyes or tees; complete as				
	3216	specified	Each	1.00	\$1,558.43	\$1,558.43
		Furnish and install 4"/6"				
		sanitary sewer lateral				
		(relay); complete as				
	3234	specified	Linear Feet	25.00	\$138.37	\$3,459.25
		Furnish and install 4"/6"			+	<i>40)-011-0</i>
		sanitary sewer riser				
		(relay); complete as				
	3235	specified	Linear Feet	5.00	\$151.50	\$757.50
	3233	Furnish and install	Efficar rect	5.00	\$131.50	\$757.5C
		sanitary sewer lateral				
		,				
	2226	marker balls; complete as	E . J	2.00	¢70.70	¢010.10
	3236	specified Furnish and install	Each	3.00	\$70.70	\$212.10
		connection to existing 8"				
		sanitary sewer mains;				
	3300	complete as specified	Each	1.00	\$2,525.00	\$2,525.00
	1	Furnish and install				
		connection to existing 10"				
		sanitary sewer mains;				
	3302	complete as specified	Each	7.00	\$2,828.00	\$19,796.00
		Furnish and install				
		connection to existing 12"				
		sanitary sewer mains;				
	3304	complete as specified	Each	3.00	\$3,232.00	\$9,696.00

Contract 24-11 - Sanitary Manl	hole Rehabilit	ation / Inflow/Infiltration R	eduction Program	(#9184991)		
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of						
Bid Opening: 07/15/2024 11:00	AM CDT					
					DE GROO	DT. INC.
	-			ł – ł		,
				ł – †		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Furnish and install				
		connection to existing 15"				
		sanitary sewer mains;				
	3306	complete as specified	Each	5.00	\$4,040.00	\$20,200.00
		Closed circuit televising -				
		using push camera;				
	3710	complete as specified	Each	2.00	\$505.00	\$1,010.00
		Abandon sanitary sewer				. ,
		manholes; complete as				
	3800	specified	Each	3.00	\$757.50	\$2,272.50
		Excavation special				
		(sanitary); complete as				
	3892	specified	Tons	50.00	\$25.25	\$1,262.50
		Furnish sanitary sewer				
		manhole grouting setup;				
	3974	complete as specified	Each	16.00	\$1,643.78	\$26,300.48
		Furnish and install				
		sanitary sewer manhole				
		grouting; complete as				
	3975	specified	Gallons	80.00	\$11.14	\$891.20
		Furnish sanitary sewer				
		manhole cementitious				
	3976	liner setup	Each	14.00	\$530.25	\$7,423.50
		Furnish and install				
		sanitary sewer structural				
		cementitious liner-				
		PERMACAST by AP/M				
		PERMAFORM; complete				
	3977	as specified	Vertical Feet	100.00	\$169.68	\$16,968.00
Bid Total:						\$1,251,533.08